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(1) He can speak English, (or, so, but) she can’t.

(2) It’s very hot, (or, so, but) let’s stay home.

(3) Is this bike yours (or, and, so) his?

(4) Both Tom (and, or, but) Mary like music.

(5) I run either in this park (and, or, but) in that park.

(6) Not only you (and, or, but) he is a doctor.

(7) Not Tom (and, or, but) Mary likes this movie.

2. RDFEXD and, or, but 1 EZEA TWEEMEZNZEN ( ) TLA D B 3w,
#]) I like (this song) and (that son).

(1) I know John and Mary.

(2) I play tennis and listen to music.

(3) Are you happy or sad?

(4) He is tired but he looks happy.

(5) Not only you but he is a doctor.

(6) Not Tom but Mary likes this movie.
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(1) He can speak English, (but) she can’t.
(I RFTBE2ET U TELH, KELITTE 2w

(2) It’s very hot, (so) let’s stay home.
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(3) Is this bike yours (or) his?
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(4) Both Tom (and) Mary like music.
-bothAand B A ¥ B &% |

(5) I run either in this park (or) in that park.
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(6) Not only you (but) he is a doctor.
* not only Abut (also) B TA Z13 T% { B ¥ |

(7) Not Tom (but) Mary likes this movie.
-notAbut B [A T#% { BJ
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(1) I know (John) and (Mary).
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and 14 John ¥ Mary ¥ W) &3 R+ 424A TW5

(2) I (play tennis) and (listen to music).
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*and |3 play tennis ¥ listen to music ¥ \» ) 3R L2 &A TW5

(3) Are you (happy) or (sad)?
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or 2N ¥ $ | happy ¥ sad ¥ WO B EFAR L2 4A TW5b,



(4) (He is tired) but (he looks happy).
(FIIEN TS, L LFEEZIICALLE]
but L4 L] I3 heistired ¥ he looks happy ¥ \» ) X+ 2 & A TWwW5

(5) Not only (you) but (he) is a doctor.
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(6) Not (Tom) but (Mary) likes this movie.
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